Automatic Sanitizer Dispenser Installation

4pcs  4pcs  1PC
SIZE:15X14.6X32.4cm

1. Use key to unlock front cover

Installation with screws

°

5. Install the dispenser on the wall

Velcro Strap

Refillable
Bottle

(close-up view of Pump)

°

-

2. Open front cover

5.2: Switch ON Before
close front cover

op

)

4PCS BATTERIES

(C SIZE, 1.5Vx4)

(BATTERIES NOT INCLUDED)
5.1: Open battery cover
and install batteries

6. Install Batteries (not included)

Pump

3. To remove bottle,
squeeze “prongs” together
to release from dispenser

Refill cover

7. Fill gel sanitizer/liquid soap
(to refill gel sanitizer/liquid soap,
please repeat step 1 and step 2
to reset the spray count)

4. Remove refillable bottle and pump

Use key lock front cover
after fill liquid

N
|
i

- Dual color LED:

1.Green is working and stand-by

2.Red slow flicker indicate sensor problem
3.Red fast flicker indicates time to refill liquid
(repeat step 1 and step 2 after refill liquid)

- Sensing Distance:8-12cm




1. Please reference dispenser installation instructions.

Installation for Table Top Components

PART LIST:

1PC

1Y

4pcs 4pcs 1PC

T T

Screw M4x10 Screw M4x20
(7pcs) (3pcs)

o —
1PC

2. Open Front Cover w/ Key.
Take out the bottle and pump.

1 — Key & Lock

3. Put advertising photo
inside of 2pcs AD board.

Screw M4x10
(4pcs)

Nut M4
(4pcs)

L=

-9 _

¢
= —1 /
Advertising Insert

18cm x 18cm
(7.09” x 7.09”)

4. Install the AD board
onto the dispenser.
Then attach the base

to the dispenser unit. ~

\75\&91 1T

Add in the bottle and ::\
pump into dispenser._ | 2;
Secure with velcro ™ (pes).

strap. Close front of
unit and lock
with the key.

(3pc% ;o

—

e

Nut M4
(3pcs)

—~

9

I N

Screw M4x10

§ .

5. Full assembly.

/

]

0
0
°

»
¢ 9
“4

B/

\ oI




